

2nd August 2024

classwork

Friday

Chapter 02:1

"Theory of Quadratic Equations"

Exercise 2.4:1

Q.11) If α, β are roots of equation $x^2 + px + q = 0$ then evaluate:

(i) $\alpha^2 + \beta^2$

Sol: If α, β are roots of equation $x^2 + px + q = 0$, therefore

$$\alpha + \beta = -b/a = -p$$

$$\alpha\beta = c/a = q$$

Now,

$$\alpha^2 + \beta^2$$

$$= \alpha^2 + \beta^2 + 2\alpha\beta - 2\alpha\beta$$

$$= (\alpha + \beta)^2 - 2\alpha\beta$$

\Rightarrow Putting values of $\alpha + \beta$ & $\alpha\beta$

$$= (-p)^2 - 2(q)$$

$$= p^2 - 2q$$

$$(iii) \alpha^3 \beta + \alpha \beta^3$$

Sol:n

$$* \alpha + \beta = -b/a = -p$$

$$* \alpha\beta = c/a = q$$

Now,

$$\begin{aligned} & \alpha^3 \beta + \alpha \beta^3 \\ &= \alpha\beta (\alpha^2 + \beta^2) \\ &= \alpha\beta [\alpha^2 + \beta^2 + 2\alpha\beta - 2\alpha\beta] \\ &= \alpha\beta [(\alpha + \beta)^2 - 2\alpha\beta] \end{aligned}$$

* Putting values;

$$= q [(-p)^2 - 2(q)]$$

$$= q (p^2 - 2q)$$

$$(iii) \frac{\alpha}{\beta} + \frac{\beta}{\alpha}$$

Sol:n

$$* \alpha + \beta = -b/a = -p$$

$$* \alpha\beta = c/a = q$$

Now,

$$\begin{aligned} & \frac{\alpha}{\beta} + \frac{\beta}{\alpha} \\ &= \frac{\alpha^2 + \beta^2}{\alpha\beta} \end{aligned}$$

$$= \frac{\alpha^2 + \beta^2 + 2\alpha\beta - 2\alpha\beta}{\alpha\beta}$$

$$= \frac{(\alpha + \beta)^2 - 2\alpha\beta}{\alpha\beta}$$

* Putting values;

$$= \frac{(-1)^2 - 2(q)}{q}$$

$$= \frac{1 - 2q}{q}$$

$$= \frac{1 - 2q}{q}$$

Q.2: If α, β are roots of equation $4x^2 - 5x + 6 = 0$, then find values of

$$(ii) \frac{1}{\alpha} + \frac{1}{\beta}$$

Ans: Since α, β are roots of equation $4x^2 - 5x + 6 = 0$

therefore

$$\alpha + \beta = -\frac{b}{a} = -\frac{(-5)}{4} \Rightarrow \frac{5}{4}$$

$$\alpha\beta = \frac{c}{a} = \frac{6}{4} \Rightarrow \frac{3}{2}$$

Now,

$$\frac{1}{\alpha} + \frac{1}{\beta}$$

$$= \frac{\beta + \alpha}{\alpha\beta}$$

$$\Rightarrow \frac{5/4}{3/2}$$

$$= 5/4 \times 2/3$$

$$= 10/12$$

$$= \boxed{5/6}$$

(ii) $\alpha^2 \beta^2$

Sol: In A.D.,

$$\alpha + \beta = 5/4 \quad \text{and} \quad \alpha\beta = 3/2$$

So,

$$\alpha^2 \beta^2$$

$$= (\alpha\beta)^2$$

$$= (3/2)^2$$

$$= \boxed{9/4}$$

$$(iii) \frac{1}{\alpha^2 \beta} + \frac{1}{\alpha \beta^2}$$

Soln: $\alpha + \beta = 5/4$ $\& \alpha\beta = 3/2$

So,

$$\frac{1}{\alpha^2 \beta} + \frac{1}{\alpha \beta^2}$$

$$= \frac{\beta + \alpha}{\alpha^2 \beta^2}$$

$$= \frac{5/4}{(\alpha\beta)^2}$$

$$= \frac{5/4}{(3/2)^2}$$

$$= \frac{5}{4} \times \left(\frac{2}{3}\right)^2$$

$$= \frac{5}{4} \times \frac{4}{9}$$

$$= \frac{5}{9}$$

$$(iv) \frac{\alpha^2}{\beta} + \frac{\beta^2}{\alpha}$$

Soln: $\alpha + \beta = 5/4$ $\& \alpha\beta = 3/2$

Now,

$$\frac{\alpha^2}{\beta} + \frac{\beta^2}{\alpha}$$

$$= \frac{\alpha^3 + \beta^3}{\alpha\beta}$$

$$= \frac{(\alpha + \beta)(\alpha^2 - \alpha\beta + \beta^2)}{\alpha\beta}$$

$$= \frac{(\alpha + \beta)[(\alpha^2 + \beta^2 - \alpha\beta)]}{\alpha\beta}$$

$$= \frac{(\alpha + \beta)[\alpha^2 + \beta^2 - \alpha\beta + \alpha\beta - \alpha\beta + \alpha\beta]}{\alpha\beta}$$

$$= \frac{(\alpha + \beta)[(\alpha + \beta) - 3\alpha\beta]}{\alpha\beta}$$

* Putting values;

$$= \frac{(5/4)[(5/4)^2 - 3(3/2)]}{3/2}$$

$$= \frac{(5/4)[\frac{25}{16} - 9/2]}{3/2}$$

$$= \frac{5/4 \left(\frac{25 - 72}{16} \right)}{3/2}$$

$$= \frac{5/4 \left(\frac{-47}{16} \right)}{3/2}$$

Formula

$$a^3 + b^3 \Rightarrow (a+b)(a^2 - ab + b^2)$$

$$= \frac{-235}{64} \times \frac{8}{3}$$

$$= \frac{-235}{64} \times \frac{8}{3}$$

$$= \frac{-235}{96}$$

Q3: If α, β are roots of equation $bx^2 + mx + n = 0$ ($b \neq 0$) then find value of

(i) $\alpha^3 \beta^2 + \alpha^2 \beta^3$

Sol: Since α, β are roots of equation $bx^2 + mx + n = 0$, therefore

$$\textcircled{1} \alpha + \beta = -\frac{b}{a} = -\frac{m}{b}$$

$$\textcircled{2} \alpha\beta = \frac{c}{a} = \frac{n}{b}$$

Now,

$$\alpha^3 \beta^2 + \alpha^2 \beta^3$$

$$= \alpha^2 \beta^2 (\alpha + \beta)$$

$$= (\alpha\beta)^2 (\alpha + \beta)$$

* Putting values in

$$= \left(\frac{h}{l}\right)^2 \left(\frac{-m}{l}\right)$$

$$= \frac{h^2}{l^2} \times \frac{-m}{l}$$

$$= \frac{-mh^2}{l^3}$$

$$(ii) \quad \frac{1}{\alpha^2} + \frac{1}{\beta^2}$$

Sol: $\because \alpha + \beta = -m/l$ & $\alpha\beta = h/l$

Now,

$$\frac{1}{\alpha^2} + \frac{1}{\beta^2}$$

$$= \frac{\beta^2 + \alpha^2}{\alpha^2 \beta^2}$$

$$= \frac{\alpha^2 + \beta^2 + 2\alpha\beta - 2\alpha\beta}{(\alpha\beta)^2}$$

$$= \frac{(\alpha + \beta)^2 - 2\alpha\beta}{(\alpha\beta)^2}$$

$$= \frac{\left(\frac{-m}{l}\right)^2 - R\left(\frac{h}{l}\right)}{\left(\frac{h}{l}\right)^2}$$

$$= \frac{-mR/lR - Rh/l}{\frac{hR}{lR}}$$

$$= \frac{-mR - Rh}{lR} \div \frac{hR}{lR}$$

$$= \frac{-mR - Rh}{lR} \div \frac{hR}{lR}$$

$$= \frac{-mR - Rh}{lR} \times \frac{lR}{hR}$$

$$= \frac{mR - Rh}{hR}$$

$$= \frac{mR - Rh}{hR}$$